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Q1 : Choose the correct answer ( 3 marks)  

: NOT functionis  ngfollowiwhich of the  1][ 

    

 

 

[2] The solution of the Rational equation    
 

 
 
 

 
   is 

a. -1                  b. -5                      c. 1                      d. 8 

 [3] IF    ( )    |   | then   ( )is equal to :      

a . 4                  b. -4                      c. 2                        d. -2 

 

:is
    

   
  of the function :  domain[4] The   

a. { |                              }      

{ |                             } b.  

   c. { |                     } 

d. { |      } 

 

: lines is perpendicularof  sslopet of the producThe  [5] 

a. 0                   b. -2                  c. -1                           d. 2 

  

[6] The slope of the line        

a. 3                   b. -6                   c. 2                       d.6 

 ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

Q2:  (2 marks ) 
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a b c d 

   

  
 

a.Perform and 

simplify: 

  
 

   
 
 

 
 

                

b. Determine whether the graphs 

of the given pair of lines are 

parallel. 

 

                Yes, it is parallel 

  

 

c. Determine if the graph 

is for a function or not.  

 

Yes, it is 

a 

function 
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